Lecture 21 - Nov. 29
Syntactic Analysis
Bottom-Up Parsing: Handles

Bottom-Up Parsing: Reverse RMD
LR(1) Items: Definition & Exercises



Bottom-Up Parsing: Handles
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Bottom-Up Parsing: Right-Most Derivation 1 Goal - List
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LR(1) Items
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LR(1) Items: Scenarios

Possibility: [A— By, a]

Ly, mazal sate of Ya«;a4 tounvdk yedutan & 4

Partial Comple’rion [A—PBey, a]

1 A;Vmgi ol B
(}-t?l rppr?/\ R Y
Completion: [A —PBye,

o (Q)
;ouau
\il zFe wotl wotes &, vee ¢ 4




LR(1) Items: Exercise (1.1a)
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Q. LR(1) item denoting the initial state of parsing?
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LR(1) Items: Exercise (1.1b)

Q. Derive all LR(1) items for the production rule A — By
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LR(1) Items: Exercise (1.2)
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Q. Derive all LR(1) items for the production rule Pair — ( Pair )
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LR(1) Items: Exercise (1.3)

FoLLow(List) = {eof, (} FOLLOW(Pair) ={eof, (,)}
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LR(1) Items: Exercise (2)

Expr Factor Term’
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Q. Derive all LR(1) items for the the above grammar.
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